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MATHS -8 (CH-14 - FACTORISATION)

MATHS -8 (CH-14 - 14.1- FACTORISATION)

Question 1:

Find the common factors of the terms
(i) 12x, 36

(ii) 2y, 22xy

(iii) 14pg, 28p* ¢

(iv) 2x,3x%, 4

(v) 6abc, 24ab? 12a%b

(vi) 163, -4x%, 32x

(vii) 10pg, 20gr, 30rp

(viii) 3x2)2, 10.5)2, 6x%)°z

Answer 1:

(i)12x=2%x2x3 x x
36=2x2x3x3

The common factors are 2, 2, 3.
And, 2x2x3=12
()2y=2xy
22xy=2x11xxxy

The common factors are 2, .
And, 2 x y=2y

(i) 14pg=2xT7xpxq
28p°q7=2x2xTxpxpxqxq
The common factors are 2,7, p, g.
And,2x7x pxqg=14pg
(iv)2x=2xx

I =3 xxxx

4=2x%2

The common factoris 1.
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(VIbabc=2x3xaxbxc
24ab?=2x2x2x3xaxbxb
1282b=2x2x3xaxaxh

The common factors are 2, 3, g, b.
And,2x3xax b=6ab

(Vi) 160 =2x2x2x2x xx X% X
AP =-1x2x2x XXX
I2x=2x2x2%x2x2XX

The common factors are 2, 2, x.
And,2x2x x=4x

(vii) 10pg=2x5xpxq
20gr=2x2x5xqgxr
0mp=2x3x35xrxp

The common factors are 2, 5.
And,2x5=10

(viii) 322 =3 x xx xx yx yx y
108 = 2 5 KX XXX
6X2)2z=2x3 x XX XX yx yx Z
The common factors are x, x, y, .
And,

xx xXx yx y= 2p2

Question 2:

Factorise the following expressions
(i) 7x - 42

(iep-12g

(iii) 78% + 14a

(iv) -16z+ 202

(v) 20Pm+ 30 alm

(vi) 5x2y - 15x)2

(vii) 1082 - 1567 + 202
(viii) -4a* + 4ab- 4 ca
(ix) Xyz+ xy2z + xyz*
(x) ax2y + bxy? + cxyz
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Answer 2:

(i) 7x=7xx

42=2x%x3 x7

The common factor is 7.

2 7x-42=(7xX)-(2%x3x7)=7(x-6)
(i6p=2x3xp

12g=2%x2%x3xq

The common factors are 2 and 3.
~6p-12q=(2x3xp)-(2x2x3xq)
=2x3[p-(2xq)]

=6(p-2q

(i) 78°=7xaxa

lda=2x7xa

The common factors are 7 and a.
78 +14a=(Txaxa)+(2x7xa)
=7xala+2]=7a(a+2)
(ivV)162z=2%x2x2x2x%xz2
=2 x xS znENE

The common factors are 2, 2, and z.
£-16Z+202=-(2x2x2x2x2)+(2Xx2%x 5% Z%x Zx 2)
=(2x2x2)[-(2x2)+ (5% zx 2)]
=4z(- 4+ 529

(V) 20Pm=2x2x5x[x[xm
30alm=2x3x5xax[xm

The common factors are 2, 5, [ and m.
~20Pm+30alm=(2x2x5x [x [xm)+(2x3x 5% ax [x m)
=@2x5x/xm)[2x )+ (3x a)

=10/m(2/+3a)

(vi) 522y =5x xx xx y

15x2=3x5x xx yxy

The common factors are 5, x, and y.

25Xy - 15x2=(5x xxxx )) - (3x5x xx yx })
=5xxx ylx-(3xy)

=5xy (x-3))
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(vii) 108%°=2x5xaxa

1S E3x5xb%D

202=2x2x5xcxC

The common factor is 5.

1082 - 1507 +20c? = (2x5x axa)- (3x5xbxb)+(2x2x5x cx ¢)
=5[2xaxa)-(B3xbxb)+(2x2xcxc)]

=5(28% - 3% + 47D

(vii)4a®=2x2x ax a

4ab=2x2xaxph

dca=2x2xcxa

The common factors are 2, 2, and a.

~-da +4dab-4dca=-(2x2xaxa)+(2x2xaxh) -(2x2xcxa)
=2x2xa[-(a)+b-d

=4a(-a+b-0

(iX) yz=xxxx yx z

XPZ=XXyx yx Z

e WL

The common factors are x, y, and z

2 XYz + XPZH XY= (XX XX YX 2)+ (XX yX yx 2) + (XX yx Z% 2)
=xxyx z[x+ y+ 4

=xyz(x+y+2)

(x) axly=axxxxxy

bxy?=bx xx yxy

CXYZ=CX XX Y% Z

The common factors are x and y.

axly+ bxy’ + cxyz=(ax xx xx )+ (bx xx yx )+ (cx xx yx 2)
=(xx N l@xx)+(bxy+(cx2)

= xy(ax+ by+ c2)

Question 3:

Factorise

(i) X* + xy+ 8x + 8y

(i) 15xy - 6x+5y-2
(iii) ax+ bx - ay - by

(iv) 15pg+ 15+ 9g+ 25p
(V)z-7+7xy- xyz

ADDRESS : INFRONT OF ANIL BHATIA DUPLEX PARISAR, NEAR 60 FEET ROAD, SHATABDIPURAM, DD NAGAR, GWALIOR 4



DPM CLASSES & COMPUTERS
oS Special for Math’s & Science
=" By - Er. Dharmendra Sir (9584873492,7974073108)

Answer 3:

() X2+ Xy+8Xx+8y=xxx+Xxy+8xXx+8xy
=x(x+))+8(x+y)

=(x+))(x+8)

(ii) 15xy-6x+5y-2=3x5xxxy-3x2xx+5xy-2
=3x(5y-2)+1(5¢-2)

=(Sy-2) @Bx+1)

i)ax+bx-ay-by=axx+bxx-axy-bxy
x(a+b)-y(a+b)

=(a+b) (x-y)

(iv) 1S5pg+15+9g+25p=15pg+9g+ 25p+ 15
=3x5xpxqg+3x3Ixg+5x3xp+3I x5
=3g(5p+3)+5(5p+3)

=(5p+3) (3g+5)
WVyz-T7+7xy-xyz=z-xxyxz-T+Txxxy
=z(1-x) -7 -xy)

= L) (2]

(i

MATHS -8 (CH-14 - 14.2- FACTORISATION)

Question 1:

Factorise the following expressions.

()@ +8a+16

(i) p> - 10p + 25

(i) 25m° + 30m + 9

(iv) 49y + 84yz + 36 2%

(V) 4x2 - 8x+4

(vi) 12157 - 88bc+ 16¢°

(vii) (/+ m)? - 4Im (Hint: Expand (/+ m)? first)
(viii) a* + 2a2b* + b*
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Answer 1:

(i) @®+8a+16=(a)°+2xax4+(4)?
=(a+ 42 [(x+ )7 = X%+ 2xy+ ]

(ii) p? - 10p+25 = ()2 - 2 x px 5+ (5)?
=(p-5)?2[(a- b?=a* - 2ab+ V7]

(iii) 25m + 30m+ 9 = (5m)? + 2 x 5mx 3 + (3)?
=(5m+3)2[(a+ b)? = a*+2ab+ b7

(iv) 49)% + 84yz + 3622 = (7))% + 2 x (7)) x (62) + (62)*
=(7y+62)?2[(a+ b)? = &+ 2ab+ b

(V) 4x2 - 8x+4=(2x2 -2 (2x) (2) + (2)2
=(2x-2)?2[(a- b)?= a* - 2ab+ b7

=[(2) (x- N2 = 4(x - 1)?

(vi) 1216% - 88bc + 16¢% = (115)? - 2 (11b) (4¢) + (4¢)?
=(11b-40?%[(a- b)?= &* - 2ab+ b7

(vii) (/+ m)?2 - 4lm= P+ 2Im+ m? - 4lm

=P -2Im+m?

=(/-m?(a- b)?=a*-2ab+ b

(viii) &* + 22%07 + b* = (8%)% + 2 (&%) (bP) + (b°)?

= (& + bA?%[(a+ b)? = &%+ 2ab + b

Question 2:

Factorise

(i) 4p? - 9¢7

(ii) 63a% - 11207

(iii) 49x% - 36

(iv) 16x° - 144x°

W) (1+ m)? - (1- m)®

(vi) 9x%)% - 16

(vii) 02 - 2xy+ ) - 22

(viii) 25a° - 4b% + 28bc - 492
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Answer 2:

(i) 40* - 9¢7 = (2p)* - (3¢)*

=(2p+3q) (2p-3q) [a* - b*=(a~- b) (a+ b)]
(ii) 63a8% - 11267 = 7(9&* - 16b?)

=7[(3a)% - (46)7]

=7(3a+4b) (3a-4b) [& - P2 =(a- b) (a+ b)]
(iii) 49,2 - 36 = (7x)? - (6)°

=(7x-6) (7x+6)[a®* - b*=(a- b) (a+ b)]
(iv) 16x° - 144x° = 16x°(x% - 9)

=16 £ [(%* - (3)7

=16 X°(x-3) (x+3) [a*- b*=(a- b) (a+ b)]

V) I+ m)? = (- m)?=[(I+ m) - (I- m] [(/+ m) + (/- m)]
[Using identity &% - b? = (a- b) (a+ b)]
=(/+m-I1+m)([+m+]-m)

=2mx2/

=4ml

=4/m

(vi) 9x2)2 - 16 = (3xp)?% - (4)2

= (3xy-4) Bxy+4) [* - b= (a- b) (a+ b)]

(viii) 25&° - 4b% + 28bc - 4962 = 258° - (4B - 28bc + 496)
=(58)% - [(2b)? - 2 x 2b xTc+ (7¢)4]

= (5a)* - [(2b- 7¢)%]

[Using identity (a - b)? = & - 2ab + b

=[5a+ (2b-70)] [5a- (2b- 7¢))

[Using identity &° - b°=(a- b) (a+ b)]
=(5a+2b-7c)(5a-2b+7c)

Question 3:

Factorise the expressions
(i) ax® + bx

(i) 7p% + 21 ¢

(iii) 2x3 + 2x)2 + 2x72

(iv) am? + b + bn® + an®
M (m+h+m+1

(Vi) iy +2) +9(y + 2)

(vii) 5% - 20y - 8z + 2yz
(viii) 10ab+ 4a+ 5b+2
(ix) 6xy-4y+ 6 - 9x
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Answer 3:

(i) ax? + bx=ax xx x+ bx x= x(ax+ b)

(i) 7P7+21¢° =7 x px p+3x7 x gx q=7(p* + 3¢")
(iii) 2x° + 2x)°% + 2x2% = 2x(x* + 2 + 20)

(iv )amz+ bm? + br? + an® = am® + bm? + an® + bn?
=mXa+b)+ na+ b)

=(a+b) (m* + P)
Vi(im+h+m+1=Im+m+/+1
=m(l+1)+1(/+1)

(/+1) (m+1)

ﬂ--\.

Vi)yy+2+9(y+2)=(y+2 (y+9)
(vii) 5)7 - 20y - 8z+ 2yz=5)% - 20y + 2yz - 8z
=5y-4)+2zy-4)

=(r-4)(y+22

(viii) 10ab+ 4a+5b+2=10ab+5b+4a+2
=5b(2a+1)+2(2a+1)

=(2a+1) (5b+2)

(ix) 6xy-4y+6-9x=6xy-9x-4y+6
=3x(2y-3) - 2(2y - 3)

=(2y-3)(3x-2)

Question 4:

Factorise

(i) & - b

(i) p* - 81

(iii) x* - (y+ 2)*
(iv) x* - (x - 2*
v) at - 22262 + b*
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Answer 4:

{1)64 b“' (892 - (b)?
b (82 + b
)fa+b)(82+b2)
- 81=(p?)? - (9)°
9 (p?+9)
(P2 - (3)4 (p*+9)
(p-3) <p+3 ) (P2 +9)
iii) X - (v + 2% = )2 - [(y+2)7
=2 -+ 2 [+ (y+ 27
[x- (v + Dl x+ (y+ 2] [P + (y+ 27
(x-y-2)(x+y+2) [+ (y+ 27

%é

=(a
(a-
if)
(
[(p)

"C;‘;

== | I | R ||

(). 2= (e 2 =00~ (= 27

[ - (x- 27 [P+ (x- 27

[x- (x- 2] [x+ (x- 2] [} + (x - 27]

22x- 2) [+ X2 - 2xz+ 2]

= 2(2x - 2) (232 - 2xz+ 2%

(v) a* - 28207 + b = (8%)? - 2 (&%) (bP) + (bP)?
= (&2 - b?)?

=[(a- b) (a+ D)

=(a- b)? (a+ b)?
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Question 5:

Factorise the following expressions
(i) p>+6p+8

-

(ii) g% - 10g + 21
(iii) p> + 6p - 16

Answer 5:

(i) p>+6p+8

It can be observed that,8=4x2and4+2=6

L PP+ 6p+8=pP+2p+4p+8

= p(p+2) +4(p+2)

=(p+2) (p+4)

(i) g% - 10g + 21

It can be observed that, 21 = (-7) x (-3) and (-7) + (-3) = - 10
~g?-10g+21=¢°-7g-3q+21
=q(g-7)-3(g-7)

=(g-7)(g-3)

(i) P+ 6p- 16

It can be observed that, 16 =(-2)x8and 8+ (-2)=6
pPP+6p-16=p’+8p-2p-16

=p(p+8)-2(p+8)

=(p+8)(p-2)

MATHS -8 (CH-14 - 14.3- FACTORISATION)

Question 1:

Carry out the following divisions.
(i) 28X* + 56

(ii) -36)° + 9y°

(iii) 66pg*r = 11gr

(iv) 342 + 51x°2

(v) 128%8 = (-6a°b%)
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Answer 1:

() 28X =2x2x T x xx xx X% X
Sbx=2x2x2x7xx

q Z2x2xTxxxxxxxx x 1
28x* +56x = ==
2x2x2xTxx 2 2

(i)36)°=2x2x3x3x yx yx y
9y =3x3xyxy

“2x2x3x3Ixyxyxy

3
X

—3&1,"" - ‘)'1,'3 = 4y

I3xIxyxy
{iii:lf)f)pqus=2x3x‘|‘] XPXGXGXIXTXT
Yo = TR g et

2 x3xllx prgrgxrxrxy

66 pg°r +11gr® =

=0 pgr

Hxgxrxr
(V)34 52 =2 x 1T x XX XX XX yX yX yXx ZX Z% Z
51 X)PZ2 =3 x17T X XX yx yxZx Z% Z

g _ 3 2rlT XN XH XX PR PR YR IR INED
M xy 2510 = sl

IxITxxxyxyrznzxs

W) 1288 =2x2x3x g x bB
6a°b*=2x3x P x bt

L] L]
I2{]H|{JH+(—6{.‘€I|;J.L} =2)€2X31H )(Ill; :_282b4

2x3xa % b

Question 2:

Divide the given polynomial by the given monomial.
(i) (5x2 - 6x) + 3x

(ii) (3y° - 4)° + 5%) =

(iii) 80322 + X422 + X227 + Ax2)2 A2

(iv) (0 + 2x% + 3x) = 2x

W) (PP - P°q) = PP
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Answer 2:
(i) 5x% - 6x= x(5x - 6)
[5.‘(: - 6.‘(} 5-3.‘r=x(5x—6}= 1{\'furwtfi‘,l

(ii) 3% - 4P + 5;541 ﬁ(?fﬁ e 4)2 +5)

. V(3 -4 +3)

[3}-‘" —43,-""+5}")+}-" = = 3,1-'J —4_1-': +5

4

”
(iii) 8O 2 + X222 + x222%) = 8X22 2 (x + y + 2)

8.\':_1"‘:: {.T +y+ ;)

E{{.r"f:: +xty'z? 4 2P y?st ) +4x2y0z% = =2(x+y+:)

4_\_2},2:2
(iV) X° + 252+ 3x = x(x* + 2x+ 3)

w=l{x3+gx+3}
2

[."'j +2x° +3x}+ 2x =

2x
V) P°¢°- PP = P’ (F - P?)
16 o3 iy p;qz(??—!)!} . ;
(Pq" -p'¢y+pg=——F— =g —p
Py

Question 3:

Work out the following divisions.

(i) (10x-25) =5

(if) (10x - 25) + (2x- 5)

(i) 106y + 21) = 5(2y + 7)

(iv) 9x2)2(3z - 24) = 27 xy(z - 8)

(v) 96abc(3a - 12)(5b - 30) + 144(a - 4) (b - 6)

Answer 3:
(i) (10x=25)+5 = M:-ﬁ-{z':_‘i}:zx—s
2 z
3 A 2xSxx—-5%5 5{2x-5
(ii) (10x-25)+(2x-5) W _ (2:.-—5 ) _
i i 2x5x p|2x3x p+3x
(i) 10p(6y+21)+5(2y+7)= 2 .15[(3"1'+7"L]+ ?]

B 2x5x yx3(2y+7)
~ 5(2v+7)

:6):
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Ox”y° [3x2—2x2x2x 3]

(iv) 9x*y*(32-24)+27xy(z-8) = Y0 (z-8)

xyx3(z-8)
T 3(z-8)
(v) 96 abc(3a-12) (5b-30) =144 (a- 4) (b-6)
_96abc(3xa—3x4)(5xb—-2x3x5)
- 144(a—4)(b-6)

2abcx3(a-4)x5(h-6)

= - - - = 10abc
3{::—4]{.6—6}

=Xy

Question 4:

Divide as directed.

(i) 5(2x+1) (3x+5) = (2x+ 1)

(i) 26x(x+ 5) (- 4) = 13x(y - 4)

(iii) 52pgr (p+ q) (g + 1 (r+ p) + 104pg(g + 1) (r+ p)
(iv) 20(y + 4) ()% + 5y + 3) = 5(y + 4)

(V) X(x+ 1) (x+2) (x+3) = x(x+1)

Answer 4:
(i) 5(2x+1)(3x+5)=(2x+1) = w =5(3x+1)
2x I3>c).j-‘{1‘+5](y—4) =

2y (x+3)

(i) 26xy(x+5)(y-4)+13x(y-4)= 13x(y—4)

(iii) 52pgr (p+ q) (g+ 1) (r+ p) + 104pq (g + 1) (r+ p)
2x2x13xpqurx{p+q]x(q+i‘}x(r'+p]
2x2x2x13x pxgx(g+r)x(r+p)

1
—E"(P“]’)

(iv) 20(y + 4) (y2+ Sy+3)=2x2x5x(y+4) l:yz'i" Sy+ 3)
2x2x5x{.1'+4}x[_1f:+5.1'+3}
5x(}-‘+4)
=4(}'3 +S}-‘+J]
x(x+1)(x+2)(x+3)
x(x+1)

20(v+4)(»7 +5y+3)=5(v+4) =

(V) x(x+1)(x+2)(x+3)+x(x+1)=

=(x+2) (x+3)
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Question 5:

Factorise the expressions and divide them as directed.
() (P +7y+10) = (y+5)

(ii) (m? - 14m - 32) = (m+ 2)

(iii) (5p% - 25p+20) = (p- 1)

(iv) dyz(Z2 + 62 - 16) = 2)(z + 8)

(V) 5pg(p* - ¢%) + 2p(p+ q)

(vi) 12x1(9x% - 16)7) = dxy(3x + 4))

(vii) 39)°(50)2- 98) = 26)2(5)+ 7)

Answer 5:

(i) O +7y+10) = ) + 2y + 5y+ 10
=y(y+2)+5(y+2)
=(y+2) (y+5)

(y+5)(y+2)

(37 +7y+10}+(y+5)= T y+2
y+5

(i) m?*-14m-32=n?+2m-16m- 32
=m(m+2)-16(m+2)
=(m+2)(m-16)

= 2 =16
[im'—]4m—32)+(m+2]=w=n:—lﬁ

(m+2)
(iii) 5p% - 25p + 20 = 5(p? - 5p + 4)
=5[p? - p-4p+4]
=5lp(p -1) - 4(p-1)]
=5(p-1)(p-4)

5{;}—]}(;}—4]
(p-1)

(5,-'f—25p+2[}}+(p—|]: =5(p-4)
MATHS -8 (CH-14 - 14.4- FACTORISATION)

Question 1:

Find and correct the errors in the statement: 4(x- 5) =4x- 5

Answer 1:

LHS. =4(x-5)=4xx-4x5=4x-20#R.H.S.
The correct statement is 4(x - 5) = 4x- 20
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Question 2:

Find and correct the errors in the statement: x(3x+ 2) = 3x% + 2

Answer 2:

LHS. = x(3x+2) =xx3x+xx2=3x+2x#R.H.S.
The correct statement is x(3x + 2) = 3x2 + 2x

Question 3:

Find and correct the errors in the statement: 2x + 3y = Sxy

Answer 3:

LHS=2x+3y#RH.S.
The correct statement is 2x + 3y = 2x+ 3y

Question 4:

Find and correct the errors in the statement: x+ 2x+ 3x = 5x

Answer 4:

LHS=x+2x+3x=1x+2x+3x=x(1+2+3)=6x#R.H.S.
The correct statement is x+ 2x+ 3x=6x

Question 5:

Find and correct the errors in the statement: Sy+ 2y+ y-7y=0

Answer 5:

LH.S. =5y+2y+y-7y=8y-7y=y#RH.S
The correct statement is Sy+ 2y+ y-7y=y
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Question 6:

Find and correct the errors in the statement: 3x + 2x = 5x°

Answer 6:

LHS. =3x+2x=5x#R.H.5

The correct statement is 3x+ 2x= 5x
Question 7:

Find and correct the errors in the statement: (2){)2 + 420 +7 =22 +8x+7

Answer 7:

LHS=(2x%+4(2x)+7=4x+8x+7#RH.S
The correct statement is (2x)2 + 4(2x) + 7 = 4x% + 8x+ 7

Question 8:

Find and correct the errors in the statement: (2x)% + 5x= 4x+ 5x = 9x

Answer 8:

L.H.S = (2x)% + 5x = 4x* + 5x# R.H.S.
The correct statement is (2x)2 + 5x= 4x* + 5x

Question 9:

Find and correct the errors in the statement: (3x+ 2)2=3x% + 6x+ 4

Answer 9:

L.H.S. = (3x+2)%2 = (3x)% +2(3%)(2) + (2)2[(a+ b)? = a* + 2ab + V]
=02 +12x+4#RH.S
The correct statement is (3x+2)2=9x2 + 12x+ 4

Question 10:
Find and correct the errors in the following mathematical statement. Substituting x= -3 in
(a) X2+ 5x+ 4 gives (-3)2+5(-3) +4=0+2+4=15
(b) x* - 5x+ 4 gives (-3)> - 5(-3) +4=9-15+4=-2
(c) x* + 5xgives (-3)>+5(-3)=-9-15=-24
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Answer 10:
(@) For x= -3,
X +5x+4=(-32+5(-3)+4=9-15+4=13-15=-2
(b) For x= -3,
X -5x+4=(-32-5(-3)+4=9+15+4=28
(c) For x= -3,

X+ 5x=(-3)2+5(-3)=9-15=-6

Question 11:

Find and correct the errors in the statement: (y - 3)2= -9

Answer 11:

LH.S=(y-3)%=())?-2()(3) + (3)*[(a - b)* = &* - 2ab + b
=2 -6y+9#RHS
The correct statement is (y - 3)2 = 2 - 6y +9

Question 12:

Find and correct the errors in the statement: (z+ 5)% = 2 + 25

Answer 12:
LHS=(z+5)2=(22+2(2)(5) + (5% [(a+ b)? = & +2ab+ b’]
=2+10z+25#RH.S
The correct statementis (z+ 5)2= Z + 10z + 25

Question 13:

Find and correct the errors in the statement: (2a+ 3b) (a- b) = 2a% - 3b?

Answer 13:

LHS.=(2a+3b)(a-b)=2axa+3bxa-2axb-3bxb
=2&” +3ab- 2ab- 307 =28’ + ab- 3P #RH.S.
The correct statement is (2a+ 3b) (a - b) = 2a + ab - 3b*
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Question 14:

Find and correct the errors in the statement: (a+ 4) (a+2) = 8* + 8

Answer 14:

LHS.=(a+4)(a+2)=(a)’+(4+2)(a)+4x2
=a*+6a+8#RH.S
The correct statement is (a+4) (a+2) = a°+ 6a+8

Question 15:

Find and correct the errors in the statement: (a- 4) (a-2) = 2° - 8

Answer 15:

LH.S.=(a-4)(a-2)=(@*+[(-4)+(-2I (A +(-4) (- 2)
=g’ -6a+8#RH.S.
The correct statementis (a-4) (a-2) = a*-6a+8

Question 16:

Find and correct the errors in the statement: iﬂ‘_ =0
ax

Answer 16:

LHS= 31; = 3)(1)”‘ =1=R.H.S.
3x° 3wxxx

3

The correct statement is ix::l
X
Question 17:
Find and correct the errors in the statement: 3‘; Tl =1+1=2
Z

Answer 17:
el 3 ol g apay
3x° 3x"  3xt 3x°
C3xt 4 1
The correct statement is — =14 —
37 3x°
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Question 18:
Find and correct the errors in the statement: —*_ -1
Ix+2 2
Answer 18:
o SR .
L.H.S = +RHS.
Jx+2
The correct statement is —>— = =X _
3x+2 3x+2
Question 19:
Find and correct the errors in the statement: 3 _L
4x+3 4x

Answer 19:

LHS.=—>_ #RHS.

4x+3

The correct statement is 3 .

4x+3 dx+3
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Question 20:

Find and correct the errors in the statement: 4':‘5 =5

G.X

Answer 20:

LHS =435 _4x 5 .. .5 ikHS

4x d4x  4x 4x
The correct statement is 2> 1.2
4x 4x

Question 21:

Find and correct the errors in the statement: Tx+5 7x

Answer 21:

LS el B0 B oiswig
TR 5

5
The correct statement is TI; i ?—; +1
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